
-- 11-� �'e, = I
4-1.�'t�u.'
P�"' '-'e-1(12.1:(B D 9 of America

I
PO Box 18 * 425 Route 202 - Towaco, NJ 07082 * Tel.: 973-263-0477 * Fax. 973-263-0477

N, .�!.

May 27, 2004

NRC
ATTN.: Nima Ashkeboussi
11555 Rockville
Rockville, MD 20852

Re: Amendment of registration certificate NR-122-D-101-B

Dear Nima,

Per our conversation on May 20, 2004 1 am sending you the old drawings of the source housing
MK 1.0.

The prototype testing for the new source housing was limited to an endurance test of the
mechanical and electrical shutter function. Betacontrol is using in the new source housing all of the
mechanical and electrical parts, which were used in the old source housing. Also both source
housings are made out of steel with the same thickness.

There have been no changes to the existing registration certificate and quality assurance program.

Our European customers are already using the new source housing MK 1.0. The new source
housing is showing the same reliability as the old source housing.

I thank you for assisting me in this matter.

If you have any questions, please feel free to call me.

Best regards,
I

Markus Hannig
Manager
Sales & Service



OS l

,r
I/

IA

1. I S h3 f, -

teo M c sa m _

N6XI
Xi/ 9s 298 4 98 200
X 40 328S 20 11 234S
Xl _ _ 3835 : 6 VO 20 95
X. 400 68.5 t . V 584.
IX 450 7385 v 4 6345
V/l 103 Ms v 04 287S
VI 50 338S v 14 2345
Vl 95 298 6 Vo 08
V 20 3085 V 14 214S
IV 335 623 V V04 S9S
a 235 5235 V .4 49S
a 7zS 361 37 1 230
I 33 321 2VS

V~1ase t;1I C e D F

We de tfl nestre * iw3 / tEm-d1S

VI* Vaiste rAN et 29.04.03 3WaR
'cF Va Xi e Xn , tra U f aLd Pr Stwker rsert 17012001 Staizel

wb- a, e )a r2r 7.l199 SAR

&2r'm o.07 :9 950 r
L*rt270199 "a

Mab f(Jhler BC-MK 10
15 jastir~ somw BC-M 10d5 m s700-103-91 d

Am BCW 10

rsatz fir: 700-V34160/3

I I



Koltimclarplotte
Co~llmetor plate

Grundplafte
Bose plate

Snen StahZ
Smrm steel

Typenscthild
tabelw...nhrran facturer name plate
an te specification Foa uto pnro t (Strahlenquetleland 1t/pe Specification Sealed source

CAUTION
RADIOACTIVE MATERIAL

ISOTOPE

ACTIVITY l I

DATE |J
HALF LFE

I
0. gm0 FWUOENMRGR

M~d S. W.. G. -,
0

betacontrol gmbh
D-5905 Freudenberg

Strahlereinheit
Source housing

bloc 4metteur



;

Labelling:

Two labels are visibly fitted.

The first label is made of aluminium and states:
- manufacturer's name
- type of source housing and year of construction
- apparatus and job number

TyV4 jaau ERm- /AJA UU t

FacrNt Kam.Nr. I700J-3 -/ 3

cate in WestemGermn G __an __ ;

The second label is fitted on the 2 opposite sides of the source
housing each. Itlis made of aluminium and states:
- radiation caution sign
- isotope name and atomic number
- activity
- date of delivery
- half life

CAUTION
PF1 Xc-; _ URADIOACTIVE MATERIAL

'ISOTOPEAf-.TIV1TY

DATE EZZ|lI -HALF LIFE



of America

PO Box 18 * 425 Route 202 * Towaco, NJ 07082 * Tel.: 973-263-0477 * Fax. 973-263-0477

May 26, 2004

NRC
ATTN.: Nima Ashkeboussi
11555 Rockville
Rockville, MD 20852

Re: Amendment of registration certificate NR-122-D-101-B

Dear Nima,

Betacontrol improved the device MK 1.0. In appliance with NRC regulations we submit the new
drawings for your records.

With the modifications we want to keep our product up to date with the needs of our customers
and in maintaining exposures "as low as is reasonably achievable" ALARA.

Attached please find the new drawings.

I also ask you kindly to update your files in the matter of the distributor address:

Betacontrol of America
P.O. Box 18
425 Route 202
Towaco, NJ 07082

The ownership has not changed. Betacontrol of America only relocated their office.

If you need any additional information, please feel free to call me.

Best regards,

Markus Hannig
Manager
Sales & Service



I tfall 2 3 4 5 .aataoaSAei~p
6esamtbreite
total width 1 a | 1740 12250 2760 1 3270 1 3780

-

4290
:Ii1heguwei tT

on raterial width Ibj 950 14 60 1970 1 2480 2990 j3500
* Wrwpolf fr3 trtin
Opudeg for seri tobe Ispt free

Mitt. Mengut
middle material c 855 1110 1 1365 1620 1 1875 12130
*#~ww_ f.4dsI*,b 0 t.d Ie



II. 1
I 2 j1 4~ b 1 d l

Produktionsrichtung
production direction

2 33 10 286 _ l

1 10 6 263

M e c
Variante Messspalt
variant measuring gap

Aligeaitn.
toletanten
ODN ISO 2769-f

Wffkn4 Sbhl 1:5 I pem - -

Sensor
sensor

I i i =4:� SOI-103-001-3 Do L-.. I
I. 234 1 - nalMm z tIn WM Gs U -



1 3 i - 4 1 5 6

�ahl Kollimator, Messing
�eel collimateur, brass A

Schalter fUr Warnleuchte
switch for remote lamps

B

O-Ring
O-ring

C

sc rm asc e a Drehmagnet mit RUckstelifeder
shielding brache turning magnet with resetting spring

Straqhlenquelle
latte, Stahl radiation source
plate, steel

Druckfeder Stahl
Ig Pr5parathalter, Stahl spring
Ig compound holder, steel E

Abschirmung. Blel
shield, lead AlIgemein. ft"mathe anstab 1:1 F.Wh. raw

toleranzen
Deckel. DIN 0 2768-f
cover, I 08?m

6-0 114042003 an Strahler
F

3d
WarmschIld radloahtly. Auf vorder m ROcksoite angebracht.
varn [able radioactive. on front and back-side Mounted S04-041-030-3

1 3 1 4 0*0� smaigime Man% I



A-A



I I 2 I 34 A I 51 I h I ,i I U I

f I 1 I I I. h I I I ?1

(DI, L _3

18 I Innen
Senil
scream

17 2Zy In(
Fillist

/ /\ \ I16 II Schild
15 2 ZylIn

screu
147 1 ISerbs

scre%
13 1 Sechs

scre~o
12 3 Zytin(

Fillist
11 3 ZyIlnc

,Fillist
10 3 Zylin(

Fillist
8 1 Drucn

N6 1 Absct

sousc
4 l aBelt

brack

Element Anz. Besct

112 1 3 i 4 Znt.1 A aOW" cat~

sechskantschraube mit ISO 10642 - M4 x 12 A2
topf _ Allen countersunk

lerschraube mit Schiltz _ DIN 912- M2 x 4 A2
ter head screw B
I _ Name plate 700-052-025/4 A2
derschraube _ Allen head DIN 912 - M3 x 20 A2

skantschraube _ Hex head DIN 933 - M3 x 8 A2_

skantmutter _Hex head DIN 934 - M3 A2

wC
Jerschraube mit Schtitz_ ISO 1207 - M3 x 25 A2
ter head screw
derschraube mit Schlitz_ ISO 1207 - M3 x 20 A2
er head screw
Ierschraube mit Schlitz_ ISO 1207 - M4 x 14 A2
er head screw
feder Spring VD-179K 1.4310
iirmlasche _ Shielding S04-052-014-4 S235JR B
het
lenquelle _ Radiation X.1114
:e
bschirmung _ Shielding S04-052-009-4 Pb
et
eI Cover S04-052-008-4 S235JR
irathalter oben_ S04-052-005-4 S235JR E
ound holder
Iplatte - Base plate S04-041-024-3 S235JR
hreibunq _ Standard JMaterial

AlIgeme.M-
toleranzflI
DIN ISO 2768-f

n | r~nfstab 1:1 1Ps - r

Strahlerabschirmung Kr. 85
shielding Sr 90

F

S04-52001-3 I b.

L
I I I .

h EY_*l -
- 1-1-1 ___

I __ - -



I
I A.- , I

I .4 I LI N I h I I I n

A

I

12 3 Zylinderschraube mit Schlitz Fillister head ISO 1207 - M3 x 25
screw

11 3 Zylinderschraube mit Schlitz Fillister head ISO 1207 - M3 x 20
screw

10 3 Zylinderschraube mit Schlitz Fillister head ISO 1207 - M4 x 14 0
_ screw

8 1 Druckfeder Spring VD-179K
6 1 Druckstange Spacer S04-052-010/4
5 0 Strahlenquelle Radiation source X.117
4 1 Blelabschirmung Shield S04-052-009-4
3 1 Deckel Cover S04-052-008-4
2 1 Praparathatter oben Compound S04-052-006-4 E

__ holder
1 1 Grundplatte Base plate S04-041-024-3
Element Anz. Beschreibunq Material Standard

Allgemeln- Mffrfltw jt sab 1:1 _ 00 _ _
foleranzen
ON ISO 2768-f

_ = _ , 11.02.2003 sn. Strahlerabschirmung Sr 90
_ _i. 18 02.03 Weber F

_ _ "shielding Sr 90

S04-52005-3
c-11 -.-. - i .

. I 4 .VI- I AROWd MM lml N oaa DF la"
isiS'-1�'



I I I I II I -, I 31 1 I 5 I h I ni[ .1 v,*

12 3 Zylinderschraube mit Schlitz Fillister head ISO 1207 - M3 x 25
__ screw

11 3 Zylinderschraube mit Schlitz Fillister head ISO 1207 - M3 x 20
screw

10 3 Zylinderschraube mit Schlitz Fillister head ISO 1207 - M4 x 14
_ _ _screw

8 I1- ruckfeder Spring VD-179K
6 1 Druckstange Spacer S04-052-010/4
S 0 Strahlenquelle Radiation source
4 1_ Bleiabschirmung Shield S04-052-009-4
3 1_ Deckel Cover S04-052-008-4
2 1 Praparathatter oben Compound S04-052-006-4

I __holder

1 11 Grundplatte Base plate S04-041-024-3
Element Anz. Beschreibung Material Standard

Atlpemeln-
toteranzen
DIN ISO 2768-f

bwflkhs Hafitab 1:1 hip -

Gsfw. 18.02.03 I Weber
Strahlerabschirmung Am 241 / Pm 147
shielding Am 241/ Pm 147

i i =�d S04-52007-3 rMt
I I 2 3 4 1 -- ~.Adu n iB" . 1D'i.~ amwasna 1 1 VIi !



4RADIO(ACIIVE'M

ISOTOPE"i
4 

14t 

7�

[777,77--�LF



I-& ,

II
I e t__ I

'r
93
.1) - ------------------------- --- ------------------- - ---------- 0-

130

-

211 7 ' or-A.< I rn >

I14k,'fl gmbh nlc - unid fegaftcchnik
____________5_____8 FreUdenberg-,

7 '17

-

LI TpIedfno.-

Nodye I odoeri

4 4 4
I .I 4- `

4 4 4

A n ~ cn NtB aujahr'..] Ref n .Y ear of C on str c

Ho der fAnne~edetab. " I I
I

13--ei.

?r- el

-e4-14 D

1-4�;-

-e- 25 E!,

.3- Q
-0-18D

I

A

Allgemein- I
toleranzen AlMg3
DIN ISO 2768-f

_ Datumn , Name Typenschild
3ezeid 3103 .2004 SalR

<o__l __eMesskopf

I I I - S04-041-052 1
=_ = l A4

Staus Andeg-n Datum IName _ l



Isodosiskurven I isodose curves nach DIN 412-1

Strahler im M1essbetrieb / source unshielded

Seitliche Ansicht
side view

--- -7,5 [ISv/h
- -2,5 pSvs/h

Isotop: Kr85 Messspalt: 10 mm Strahlertyp: X1114
Isotope meas. gap type

Aktivitat: 3,7 GBq Kollimator: Schlitz 10 x 35 mm Kr85-3,7-10-01
activity slotted collimator BI. I

Messgerat: babyline I

Indicon One S-031 Strahlenbelastung / KrBS-3-7-10-01-DIN 412-1



Iso dosiskurven I isodose curves nach DIN 4 12-1

Strahler abgeschirmt/source shielded
___________________________________________________________________________________________-

Seitliche Ansicht
side view

- 7,5 pSv/h
--- 2,5 pSvs/h

Isotop: Kr85 Messspalt: 10 mm Strahlertyp: X1114
isotope meas. gap type

Aktivitat: 3,7 GBq Kollimator: Schlitz 10 x 35 mm Kr85-3,7-10-01
activity slotted collimator BI. 2

Messgerat: babyline III

Indicon One S-03 1 Strahlenbelastung I Kr85-3-7-10-01-DIN 412-1



1 11 III III

Isodosiskurven I isodose curves nach DIN 412-1

Strahler Im Messbetrieb / source unshielded

seitliche Ansicht
side view

I m

- - - 7,5 IiSv/i
-- -- 2,5 pSvs/h

Isotop: Kr85 Messspalt: 10 mm Strahlertyp: X 114
isotope meas. gap type

Aktivitat: 9,9 GBq Kollimator: Schlitz lO x 35 mm Kr85-9,9-10-01
activity slotted collimator BI. I

MeIgerSt: babyline II

Indicon One S-03 I Strahlenbelastung / KrSS-9-9-1O0-1-DIN412-1



M

Isodosiskurven I isodose curves nach DIN 412-1

Strahler abgeschirnit/ source shielded

seitliche Ansicht
side view

7,5 .Sv/h
- - - - - 2,5 pSvs/h

Isotop: Kr85 Messspalt: 10 mm Strahlertyp: X1114
isotope meas. gap type

Aktivitat: 9,9 GBq Kollimator: Schlitz 10 x 35 mm Kr85-9,9-10-01
activity slotted collimator BI. 2

MeBgerit: babyline I

Indicon One S-03 / Strahlenbelastung I Kr85-9-9-10-01-DIN412-1



P�MIF181111111 I

Isodosiskurven I isodose curves nach DIN 412-1

Strahler Im AMessbetrieb /source unshielded

Seitliche Ansicht
side view

I in

- 7,5 iSv/h
- 2,5 tSvs/h

Isotop: Pm147 Messspalt: 10 mm Strahlertyp: VZ464
Isotope meas. gap type

AktivitMt: 18,5 GBq Kollimator: Rund Pml47- 18.5-10.01
activity slotted collimator B1. 1

Messgerft: babyline II

Indicon One S-03 / Strahlenbelastung I Pm147-18-5-10-01



MEMMM=MM

isodosiskurven I iso6dose curves nach DIN 412-1

Strahler nbgeschirmt/source shielded

Seitliche Ansicht
side view

- 7,5 pSv/h
. - - - - 2,5 pSvs/h

Isotop: Pm147 Messspalt: 10 mm Strahlertyp: VZ-464
isotope meas. gap type

Aktivitat: 18,5 GBq Kollimator: Rund Pm147-18.5-10-01
activity slotted collimator B!. 2

MessgerMt: babyline II

Indicon One S-03 / Strahienbelastung I Pm147-18-5-1O0-O1



F1111,15,111! -Ili mliw.11111 III II i I 11; i

Isodosiskurven nach DIN 412-1 1 isodose curves

Strahler Im Messbetrieb / source unshielded

seitliche Ansicht
side view

I m

- - - - -7,5 pSv/h
2,5 pSvs/h

Isotop: Sr.90 Messspalt: 35 mm Strahlertyp: X117
isotope meas. gap type

Aktivitft: 0,37 GBq Kollimator: Schlitz 10 x 35 mm Sr.90-0,37-35-01
activity slotted collimator BI. 1

MeBgerat: babyline I I

Indicon One S-03 / Strahlenbelastung / Sr9O-037-35-01



EMEMMEMM

Isodosiskurven nach DIN 412-1 1 isodose curves

Strahler abgeschirmnt/source shielded

seittiche Ansicht
side view

- 7,5 pSvih
2,5 pSvs/h

Isotop: Sr9O Messspalt: 35 mm Strahlertyp: X117
isotope meas. gap type

Aktivitat: 0,37 GBq Kollimator: Schlitz 10 x 35 mm Sr.90-0,37-35-01
activity slotted collimator BI. 2

Mergerat: babyline I I

Indicon One S-03 I Strahlenbelastung I SrgO-037-35-01


